A3 (mod 3)

blocks | defect | matrix
G 1 5 30 x 13
2 4 22 x 10
3 1 3 X2
2.G: 4 5 21 x 10
5 2 6 x 2

Block 1: | o1 w3 ©5 @6 ®s ©o Y10 P12 P13 P15 P18 P19 P20
Li=x1] 1 .
651 = X3 1 1 .
208, =x5| 1 1 1 .
2201 = X6 . . . 1
429, =x7| 2 1 1 1 .
4621 = X10 . . . . . 1 .
4622 = X11 . . . . . . 1
30031 = X22 . . . . . . . . . 1 1
34323 = x24 | 1 1 1 1 . 1
34323 = X25 1 1 1 1
35751 = X26 1 1 1 1 1 . 1
36401 = x27 | 2 1 1 1 11
4004; =x28 | 3 1 1 | . . 1 1 1
42907 = x30 . . . . o1 1 1 1 1
42900 = y31 | 2 1 1 | 11
42905 = y32 | 2 1 1 . 1 1 1 .
50051 = X33 3 1 1 . 1 1 1
68641 = X38 2 1 . . 1 1 1
78001 = X40 2 . . 1 1 1 1 1
80081 = X41 3 1 1 1 1 1 1 1
80082 = X42 3 1 1 . . . 1 1 1 1 . 1
8580; =xa3| 4 1 2 1 1 1 1 1 1 1
11440, = x4a7 | 4 1 1 1 o1 1 1 1 1 1 1 1
12012, = x| 5 1 2 1 1 1 1 1 1 1 1 1 1
15015 =52 5 1 2 1 1 1 1 1 1 2 2 1 1




Y1 =

s = O oz T
05 = 143 w13 = Tl4o
v = 2201 P15 = 10651
s = 428, p1s = 1938
0o = 462 P19 = 2287
o1 = 462, 0 = 50T
Block 2: | 2 @4 w7 @1 Y Y16 P17 P22 Paa Pas
121 = X2 1 .
661 = X4 . 1 .
4292 = X8 1 1 .
4951 = X12 1 .
7921 = X14 . . 1
9361 = X15 2 1 1 .
12871 = X16 1 . 1 .
13651 = X17 1 . 1
25741 = X19 . . 1 1
25742 = X20 1 . 1 1 1 .
34321 = X23 1 1 1 1
51481 = X34 . 1 . 1
60061 = X36 1 . 1 1 . 1
64351 = X37 . 1 . 1 1 1
90091 = X44 2 1 . 1
93601 = X45 1 1
102961 = X46 . . . . . 1
120125 =yso | 1 1 . .1 11 |
128701 = x51 | 2 | 1 1 1 1 . 1
17160 = xs3 | 1 1 1 1 1 1 i
20592 =yse | 2 . 1 1 1 ) 11
214501 = ys5 | 1 1 1 1 1 11
Block 3: Y21 P23
4212, = yao | 1. P21 = 4212
7371 = vz | .1 P23 = T3ThL

11583 = xas | 1 1

P4

P7
®11
P14
P16
P17
©22
P24
®25

129
661
417,
495,
792,
1275,
1299,
5082
85681
10296,



Block 4: | 026 @27 ¢28 ¥20 ©31 P32 P33 P31 P35 P36
321 = xs6 1 .
322 = X57 . 1 .
3521 = X558 1 1 1 1 .
24961 = X60 1 1 1 . . 1
24962 = X61 1 1 1 . . 1
42241 = X62 1 1 1 1 . .
45761 = X63 . . . 1 1
49281 = Y64 1 1 1 1 . . 1 1
88001 = x5 1 1 . . 1 1 1 1
91521 = xs6 2 2 1 1 1 1 1 1
91525 = x67 2 2 1 1 1 1 1 1
91523 = xss 2 2 1 1 1 1 1 1
91524 = xs9 2 2 1 1 1 1 1 1
91525 = x7o 2 2 1 1 1 1 1 1
137281 = x76 2 2 1 1 1 1 2 2 .
137285 = x77 1 1 1 1 1 1 1 .
137285 = x7s 1 1 1 1 1 1 . . 1
160161 = x79 1 1 1 1 1 1 1 . 1 .
160162 = x50 1 1 1 1 1 1 . 1 . 1
208001 = xs1 3 3 2 2 2 1 1 1 1 .
208002 = xs2 3 3 2 2 1 2 1 1 1
Block 5: | p30 37
17281 = X59 1 .
95041 = x71 . w30 = 1728,
11232) =x72 | 1 1 ez = 9504,
112322 = X173 1 1
112323 = X74 1 1
112324 = X175 1 1

Y26
Yar
P28
©29
®31
©32
¥33
P34
©35
©36

32
329
1444
144,
20804
20802
2288
2288,
9216,
92162



